j’As/by’:c]ectmg the correct/most appmpl‘iat
¢ ques \]

I]o\ﬂr'lﬂg
Answer the fo ; 2 fro)

Direction :

options. P >
Fror - Freaferferm st 3 3 T 0
] rwa groups of students :
ing aterials 10
61. A teacher gives the folieg |ass strlps a circular plane glass plate, some pieceg o
Three rectall gu dboard tub& and disk

Group A : -
a harcl cardboard/box

bangles an
~ed by the groups A and B using the above sets of

jrrors
Two plant m o be prcpal'

Group B :
Which of the following gadget® can )
materials? Gmup£

e Peri cope1
eris
(1) Kaleidoscope
(2) Periscope pinhole camera
(3) Periscape Kaleidoscope
Newton’s disk

{4) Kaleidoscope "
o e frenfidd & @ 2 freffaa Tl <L
?ﬁqmﬁmzﬁvﬁﬂ i@ (A W@Z,i@ﬁ%ﬁ@gﬁmnﬁﬁw@@

FEA:
w I
FEB: B el = 3R AN /A )
wgmmﬁ(mﬁ)a;qgma;mﬁmAgﬁtBmﬁmﬁ;&:ﬂﬁﬂaﬁq-ﬁmmwmg?
g A F’ILFB) '
(2) Uiy ﬁq—g,a%qn }
(3) e SR
(4) ersere =z 6 e

62. M1crcorgar?.isms can be both useful as well as harmful to us. Which of the following beneficial
processes is not carried out by microorganisms?
{1) Preservation of food items in homes » —.
(2) Preparation of medicines Lt
(3) Breaking down of organic wastes
(4) Increasing soil fertility

[ereira gt for wner % .
fem sn? mmﬁﬂqﬁéﬁqﬁﬁqﬁﬁﬁﬂ?mmmﬁﬂmﬁmﬁ
{2) afraftraf T 3‘-.=,‘
(3) e yufmel +1 e it
(4) g1 F @ agrEn/d giy we

“&."‘

e
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. Which of the following i )
i 1?

(1) Grow different cropg al:lltc;t likely to increase tne fertiity ofeol

(3) Substitute fertilizers 1,

(4) Leave the field uncy Y organijc manure:

tJth
B
[I]W;ﬁ;ﬁwm ¥
M“Ei TR I =y
(3)3@@?%%@@ @Wm
(4) ﬁwﬁ%?ﬁﬁﬁaﬁ%mmh

4. Which hormone is responsihle g4, the process of metamorphosis in frogs?

(1] ’I‘hyroxme li
(3) Adrenaline ﬁ‘; Ig::‘wﬁ hormone
Fl ST H T % Rew, B g s 27

(1) it /(2)4{;%{3

(3) T . (4} gig FHH

wing conceptions of learners.

65. A teacher, while teaching a topic in chemlstry, identifies the follo
Which of the following is net an alternative conception?
1) Adding oxygen in a reaction is oxidat n-
{2) Allotropes of carbon have same ato __number-
{3) Carbnn atom is black in colour. g

ﬁ@cﬁﬁméﬁsﬁazmunwﬁ%? o

(1) arfirfean & stfafier Srer1, STHR (mmﬂm)%l
W%mﬁmwmmﬁm%u

(3) e T ST 2

(4) T TEmRE ey & e & o T R

66. Which of the following represents a CDI‘TECt scientific analogy?

(1) Fuel burns like a fire.
(2) Battery is to flashlight as headlight 4

(3) Pure gold is as soft as butter.

ﬁwﬁrﬁaﬁ@aﬁn-mm-a%mﬁﬁm

551_

(1) & o ) e S 8 g
2) MW%W@@%@WW%W|
(8) g s s B e e A B

T G ma\ﬁ%ﬂ)ﬁﬁmm%ﬁ?ﬁ%



uclear energy in class. What could be her objccuven
n

. e o . science, technology and society
67. A teacher organizes a dcbatnncction bcr;‘_"cfnbal SnEir &
understand €07 ©. _,.g of glol ;
@ To ma}fc: : s wit it derstanding about nuclear reactor
{B) To familiarize learner Pmal un : )
(C) To promote students’ conce sponsible use of science for benefit of society
t re J

(D} To make understand abo!
Choose the correct optiof “(2) (A), (B) and (C)

t4 Bl Bl et Ol C(@) (A), (©) and (D) |
o a';d ~ i o e 1 T 1 3 7 s e 47
T, i e 49
gxﬁﬁﬁmgﬁmwmmmﬁmﬁmﬂ

(D) w1 3 fea-emy 3 o P 3 g ST % AR A TG (orhee) K

w& fawey 71 997 Ay -
(1) (4), (B) 3R (D)<, _/le) (A), (B) 3R (C)
(3) B), (kO (@) (@A), (©) 3 (D) |

Which of the following is not consistent wiib_'t_he contemporary understanding of science?

68. VR - . .
(1) Investigations in science may involve repeated action on any one or all steps of scientific

method in any order. g3 2
(2) Scientific method offers a logical apprch__':h to problem solving.
{3) Following one scientific method is surely and the only way to scientific discovery,
(4) The scientific method does not help to-make any aesthetic or value judgement about a

phenomenon.

ﬁn&f@aﬁﬂﬁq«mﬁm%mm%mmﬂﬁ‘e?
(1) ﬁamﬁahm&maﬁ%mﬁmﬁm%ﬁﬁmlﬁmummﬂawﬁﬁ,ﬁmﬁrﬂmﬂmammm

energy states for electron, in which the. electr ; : :
on does di
round the nucleus.” $7 4 €s not radiate energy while revolving .

[‘:’;h:t f"’es the above excerpt illustrate about nature of science?
cience is tentative i s
iy Letitive, (2] Science is soci
(3) Science is subjective, {_-{4; SE;Z:: lii; S::;‘ilfrnizi :‘;.llturally embedded.

ﬂﬂ%f@ammfamw,

4 mmmafmﬁﬁmqﬁ i o
I o A v % wa Rall
a—}’éﬁmnﬂ?l %mqﬂ“‘ﬁﬁam%?

(3) faam =afirfim 2 ) I T Hiwghe w9 Y i 4
A (57)- P () 4
26
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70. Read the following Statemenq
A) : i '
Assertic;“; [llii ECmnCe Underggeg di
nin : isti aradi ifts.
Reaso Xisting Scientig P a gm shifts %
evidence, ic theories and laws M2
Choose€ the correct option, P

(1 1A) is true but (R) ig false

@) (A) is false but (R) ig S

be discarded in light of new

(3) Both (A) and (R) are try, = ing for (A).

(R) is the correct reason

(4) Both (A) and [R) are true byt (R) i; 'no‘t the correct reasoning for (A),

prerferfrn o ) R ;

e (A) i ﬁmﬁmqﬁqﬁiﬁmﬂmm% )
# (R) : mmw%mﬁmmm@ﬁﬁﬁﬁﬁmﬁm)mm%\
w# famen =1 =7 i)
) 7 E g (R) s by
) (A) s ¥ P (R) W N
(@) (&) 3t (R) A1 e & 7w (R) () 0wt 7 20 g5
() () she (R) 26 e & Py (R) () 0 A 21

71. Which of the following should be emphéaized by the teacher for nurturing creativity?

(A) Engaging students in inquiry and discovery oriented tasks
(B) Highlighting right or wrong reSponséé ‘while evaluating students’ tasks
(C) Encouraging students to do tasks without any fear of evaluation

(D) Encouraging learners to find right answers to all textbook questions
Choose the correct option.

(1) (&) and (C) @) &) and (D)
(3) (&) and (B) " Fedd) (B) and ()

T ) ffa w0 3 R e T Pt 38 i o R s
(A) T (afors) T orE (@) F H Frnfi %) wem v

(B) et 35 o 3 o 5 T 0] T I N ST/ D
[C}ﬁﬂrﬁﬁmﬁmﬁmﬂ?ﬁﬁﬂﬁﬁﬁﬁfﬂmm T

D) P 3 sy T S 35 A S I A 35 o S wm

) frpew =1 o B N
+HH) 3k (©) e {2) (A) 3R (D)
G (4) 3iv (g) (4) (B) 3K ()

B



. shared with he_r learners that the credit for th
72. Durin a science class, a teach? omas Alva Edison. Se\rf:.raj.others before T]i
A emm‘% bulb is usually given tc:-c remark by the teacher indicate about scje
i abo¥ 3} Science is dynamic
but failed. What does the i ea .(B} yn .
'[AL; Sa‘jL . i i tercli‘%cili'“ﬂm-y ar
Clence is an =
of learning. i@,
: terpri
{C) Science is a collective enterP e s
Choose the correct option. i (2)’ (B) and (D)
(1) (A) and (¢) L

“(4) (C) and (D)
{3} (B) and (C) Ei

m -m%ﬁﬁﬁmm%mﬁmm a‘mmqm.
~if ﬁﬁ-g[r!fﬁa;mq i £ THa ﬁﬁ’m' » 'ﬂ?qq
m:m:énm%ﬁﬁmm%imqsé'mﬁ Rk R AR i '3'33’-*

€ in\'en "

tig
m Warke ;‘Q:\
Tice? nil

{(D) Science Promotes scepticism.

T % farwm & v gt 7 27

(A) T wtfirm =7 st o 2 ~ (B) fam q_“a“i:'“ IE_ ad

(C) 1 v s e & {D}mm(ﬁﬁm)ﬁmhm
w8 e = D .

(1) (a) st (¢ 'ff (B) #ir (D)

) (B) 3 () L4 (0) 3R (D)

73. Why do scientists use scientific modelling to analyze

(1} Models are simpier 10 analyze than real__'_:systcm.
(2) Models cannot test hypothesis, o

{3} Modclﬁng does not neeq instruments; ™ :
{4) Modelljng does not ¢

the behaviour of systemsg?

(3) m%mﬁmﬁﬁmmmﬁaﬁl
(4) wftrewm 2 fapy FAR Uit
74, A teacher perform
Statements 51 and Sy :

the following
5 Oxygen is a sy

{2) Sl""awaﬂ; .SQ—._ﬁEmf
(4) Sl“‘ﬁw; So—Frewd
DET-24-11 (N) 28



I L T T

b over the hole to
: e puts her thum
tom of a plastic bottle: Sh pshe then closes the cap of the

lttgt'lmb from the hole?

(] makes a hole near the bot

75, A ]
ccﬂ-’c“ it, fills the bOtl]c W'ith w

pottle tightly. What wil] happ

ater up to half of its capat
€N when she removes her

ssure inside the bottle is more than
re

(1) The water will spurt out of the hol
e

the outside pressure. ibacause the P

L
ter will not s oy inside the bottle is less than
‘2) The wa : purt out ) essuUre 1
the outside pressure, of the holc___t.:ecausc Hieip”
: = : irsi bottle is less than the
(3) The water will spurt out of the h {7t egsure inside the
putside pressure. ole bic:c__:apsc the pr
(4) The water will not spurt out of the ;wlc because the pr'és;sure inside the bottle is more
than the outside pressure.

T A RS T e § re ¥ o me,f,gqﬁ-ézﬁﬁ%ﬁmwmmai@@,
drad 1 ammi«mmmﬁmmﬁmﬁ%ﬁm@méﬂwﬁwwmﬂmmmm

R gerei?

(1) 2 B D B FERT G 6 St ¥ sie el 79 D s B
(2) ¥ TR T T G i S 3 st 7 e 7 B R
(3) 92 & § TR W HER G20 HifE daw F m_mmﬁmﬁiﬁqﬁl

)
76. Fill in the blanks : ,
Bakeliteisa A and itis used for making_B_. On the other hand, PVCisa C _which

is used for making _ D .

(1) A—thermoplastic; B—utensil handles; C—thermosetting plastic; D—electrical switches

{(2) A—thermoplastic; 3-—e1ectrical switches; C—thermosetting plastic; D—containers

&

(3) A—thermosetting plastic; B—clectrié:hlk_%witches; C—thermoplastic; D—containers
(4) A—thermosetting plastic; B—containers; C—thermoplastic; D—utensils

o T ) o RN :

WTRT A poR_B
S immam el

A A srieenfe (am-gae); B © TSGRt (q-g5) wnfe; DA R
(?) A (qu-geed); B39 &S C—uiaRn (9-37) wnfes; D—m
Q) A—witafin (ar-gg) v B—G s, C—wanfes ("‘W'"@Fa)'; D—m
1) Ao (ma-g3) wenfRw; B—T; C—IRIRIRS (A9-Foe); D
Dm-24_n M) 29 [ P.T.C.
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with water to Pl‘ﬂ_duce another s:ubstance Y. v Teacyy
x reacts ¢ y turns blue litmus red. Which of the fO]lDWing i Wity
77. An oxide of a subsfa_nczbspgrved tha . an :
It is
oxygen to form Z.

n i asic in nature,
concluded about X, ¥ & cidic and Z/is b i
(1) X is a non-metal, ¥ is @ jic and Z.is.acidic in nature,
is acidIC =
b d Z is basic in nature,
¢ an 5

7 is acidic in nature,

(2) X is a non-metal, Y.- 7
(3) X is a metal, Y is ﬂCl‘?‘ =
(8] X155 metal, Y45 besle o ST Y I FE Y)Y St A sl w7
w)ranua:s:mrsa:ﬂa%wﬁﬁf%; :;:(ém%' X, Yaﬁtz%ﬁwﬁﬁq%ihaﬁﬁwﬂm%
e a1 fien w5 v e
(1) X% g 8, v gy 4 oncd e N
(2) X apurg 8, Ysrgsﬁﬁmﬁuaﬁiz?ﬂ‘ﬁ;
B XT=Euge, Yugﬁﬁmaﬁtzmag
(4) XU urg ¥, ywgphr d e ol 2 9 R

g is likely to happen when chlorine gas is added to the solution o

Y

P

78, Which of the followin
sodium bromide? [ 2
(1) Sedium chloride is formed through decomposition
(2) No reaction wil take place -
(3) Sodium chloride is formed through displacement reaction .. -
{4} Pure sodium js obtained through sublimation
%ﬂﬁmﬁﬁm%mmﬁé%ﬁmﬁmmﬁ yafea e sy
(1) HHH T Hfean wimge & fgiy L |

(3) mzﬂ%mw*ﬂm@iﬁmhﬁ%mmmm

}/m&:m%mmw
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WhiCh of the following ¢y,

1 fa th
ﬂask and why? ner and outer layers of a thermos

dium: ; Z
™" i3 present between the in

m, because j Ee, .
1) Vacuum, Se it pr. e : and convection
( €vents loss of heat due to conduction

2) Air, because it prevents Cl onduction
( loss of heat due, to n and ©

radiatio

i eca i £
3 Air, because it prevents loss of heat du 9 to conduction

{4 Steel, because it Prevents losg of heat, due 1o radiation and convection

s o I B ST SRl 0t 3 g Py 3 @ AT T " qufer e & i =
(uﬁdﬁi,%ﬂﬁ%q@mqm\tm%mmwmﬁﬁﬁmg
(z}ﬂ,ﬂﬁ%ﬁmmm%mﬁﬂmggﬁﬁm%

- “’ﬂ%“m*mﬁimWﬁmﬁaﬁma

(4) Tra, FiF T8 fafmm Ww%mﬁmmﬁgﬁaﬁ-&m%

g1, Bujho wants to set up a circuit for thc ﬁ{iﬁﬁcaﬁon of copper. Which of the following
electrodes and solutions should he opt for?«

(1) Anode—Impure copper; Cathode—Pure copper; Solution—Copper sulphate
(2) Anode—Pure copper; Cathode—Impure copper; Solution—Copper sulphate
(3) Anode—Impure copper; Cathode—Pure copper; Solution—Water

(4) Anode—Carbon; Cathode—Pure coppé’r'—.Solutjon——-Coppcr sulphate

, ﬁ;mﬂmm%m@mmmtxmﬁa@mm@mmﬁ
T Afew?

(1) v atan/®iw; FIE—E Hm/w

2 ey ot /e e v, A/ e i

__mm

(9) wre—smyp atan /¥ Felre—%: /HI; free

@ ‘{‘ff;—m‘,ﬁ; Ma’{a‘[}ﬁfﬂt, FeR—=R w5
PET241 () a1 [ P.T.O.

D



N

82, A ray of light enters two media X and Y having different optical densities. Refer to the taby

given below and identify A, B, C and D : , I
Change in frequency | Change in wavelength

Medium Change in speed of ,
light =1 of light of light
"] B
X Increascs ¥ A
[ Y C S D Decreases

(1) A—No change; B—Increases; C—Decreases; D—No change
(2) A—Decreases; B—No change; G—Nr'_:i __EitiarlgE: D—Increases
(3) A—Increases; B—Decreases; C—Incréa}s!.‘S; D—Decreases

(4) A—No change; B—Decreases; C—Decreases; D—No change
SF A T e fifim sl w F A et X i Y vdw w3 4R 4w afe B w9 4, B, o

adr D 5= Fifiw
e o # T § DL I 2 S Q—————y
v . ey o
| x| smesd [ a4 | B |
Yy | c Iz ™ D ] — ]

(1) A—=¥ wiads 7d; B—gfx #ft 3 C—qz?ﬁ%m_ﬁ?lfvﬂashm
(2) A—==dl %; B witeda 7, cﬁmrér:f:a{n#f D—af Bt 2

b =i

/Lm-—zﬁif's’raﬁ% Bzt &; C—gla Bt 8y .D——Er’?ﬁ%
(4) A~} witd 78, Bz 3 C—Tef ¥; DX <hwda 7

83. Fill in the blanks :
The process by which dead vegetation is converted to fossilfuel A at __B _ pressure and

__C _temperature is called as _D

(1} A—natural gas; B—high; C—high; D—-oxidatlon
{2) A—coal; B—high; C—high; D——carbomzatmn

(3) A——coal; B—high; C—low; D———oxrdat}on

(4) A—petroleum; B—low; C—high; D——carbonlzanon

ook Tl 7 4fd Hfr
T2 R o T g9 e, san o 1{ 51 _ B vAawmA_ ¢ wekafa @ W 2, @
__D_ FFem g i _

s

(Y AR A, B3w; Gy, D,
(2) A—Fren; B—aw=; C—%1; D—Frtfay
(3) A—rTEr; B—==; cfam; D—37y

(4) AT, B—RR; 0-3%1; D sy
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g4. A sample of soil mixed with wat ge. Which of the following

would now change the coloyyr

(1) Vinegar "
(3) Milk of magnesia :_[_2] . Common .S
{4)_Lemon juice

W%@#@ﬁﬁ%mﬁﬁmwmpﬂé#j:w_mmﬁm|ﬂﬂfaﬁﬂ‘dﬁﬁﬂﬁﬂ-mmpﬁﬁ

e turns the pH paper ycllow‘:sh oran
of the pH paper to bluish?

= @ e Em?

) Foe /ger‘%umm

3) s @i Feftfim
(=T

5. Which of the following would you choose for making 2 fus€ wire?

Resistance Thickness . i Melting point

(1) Low Thin = High

2) Low Thick High

(3) High Thick Low

(4) High Thin Lot

w@ R 70 F e Fefafen § @ omy frgm wm w007

wferity Ao 1= TeAE .

(1) = gl Sl

) = T ==

3) = W i
_13) = A f =

86. Arrange the following steps of fixation of ratmospheric nitrogen in the correct sequence :
{A) Uptake of compounds of nitrogen by plants through the root system

(B) Synthesis of plant proteins and other compounds

(C) Conversion of nitrogenous wastes from dead plants and animals into nitrogenous
compounds

(D) Fixation of nitregen from

Choose the correct option.

(1) (D) - (A) = (B) = (C) {12): (D) = (B) = (A) = (C)

(3) (D} = (C) = (A} — (B) {4 &) - (D) - (C) — (B)

w@mm%@w%ﬁnﬁmmﬁ@mﬁm@mm;

(A) i g 7 2 T % D T S

(B) e s o s DR T ERE - S

(C) T et e <t A 8 TR TR F ARG A F T

(D) w5 iy (A of - A T L B G o

w fmes = = FR
(1) @) = (A) - (B) = () @) O} = (B) = (&) > (C)

3) (D) = (C) = (A) > (B) AR = D)= (©) — (B)

DET-24-11 {N) 33
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TR

city for different months. Which month will ey,
the

chart of
T
87. The following is the Wfa‘:: o | .
highest rate of evapor® o (C) wind spee (m/s) Humidity (%)
ﬁfﬂm r
Months Temp ]
7550
c 27
(N
7522
D 26
2)
83-12
@) A 26
S 7.
(4) B 29 = 33
Wmaﬁ%iﬁﬂﬂﬁﬁwﬁamm?
fyfir e & :
foreh T 7, - (<C) a1 & 9 (m/s) SRar (%)
i A
071 i
(1) ¢ 27 75-50
3 082 7522
(2 D 26
087 83
3 A 26 12
{4) B 29 291 72:33

events in sexual reproduction in a

88. Whic
flower is correct? v}

are formed after pellination and development of embryo

h of the following statements about ;th_g___;scqucnce of

(1} Seedlings

(2) Embryo is formed after pollination and formation of seedlings
of embryo.

IT?

(3) Seedlings are formed after pollination and before development

(4 Embryo is formed before pollination and after fertilization

]E“:”%”E"ﬁm'mmﬁmwﬁﬁﬁ*ﬂ??ﬁmaﬁ%w%ﬁm@%?

3) W%Wﬁtgﬂ%mm%ﬁ m{“

. oA O B TTY—r. .




09 which of the following Statem,
' nts g

: ds?
: gerine glan
pituitary gland is g not true about end
() tacheq
to the

i brain..
2) Endocrine glands g ecrete he ie )
Tmon

es. [

eas and aq
(3) pancr renalg - ;
®ndocrine

- el B
(2) 3 Wﬁmmmp

00, Read the following statements -
Assertion (A) : Deforestation can Yonsiel id,ﬁoods.

Reasoning IR]: The inﬁltl‘ation rate of v}a‘t—ér is reduced due to deforestation.
Choose the correct option, -

(1) {(A) is true but (R) is false.
(2) {A) is false but (R) is true.
(3) Both (A) and [R) are true and (R) is the correct reascning for (A).

(4) Both (A} and (R) are true but (R) is not the correct reasoning for |A).

frefrftaa et 1 wiew - -
s (A) : ammfaquﬁmmmzﬁ_ﬁmtl
T (R) . a1 e ¥ 9@ F A W RS jy

£

el ey = w2m il l,':i“

(1) (A) v frg (R) o B ;-.:

/&mlm%ﬁ,—«g,(mm%l |

3) a) 2 (R]ﬁm%afnlﬁiﬂlﬂl“ﬁﬂ*?l
[4) (a) 3w (R) 21w & Bg (A) (R) 8 T T8 ¥

PEr-24.1 () 35 [ P.T.O.
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